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QUESTION 1

You have finished deploying a Netapp AFF All SAN Array Cluster and want to test the persistent ports feature. In this
scenario, how would you accomplish this task? 

A. Perform a takeover of a node 

B. Disconnect an FCP initiator port 

C. Disconnect an FCP target port 

D. Disable a SAN LIF 

Correct Answer: A 

If we don\\'t have OnCommand Insight, then we should not pull out a cable as test because it won\\'t be detected
properly. Doing a planned takeover will meet the requirements asked. 
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You can find more information on this link: 

https://www.netapp.com/pdf.html?item=/media/10379-tr4515.pdfandv=20217121554 (26) 

 

QUESTION 2

Exhibit. 

The host in the exhibit is connected to a 4-node ONTAP SAN using dual-fabric implementation. LUNs have been
mapped LUN through all available UFs on nil (our nodes. Switch 2 is powered off for high-availability testing. How many
paths per LUN would you expect the host to see in this scenario? 

A. 2 

B. 6 

C. 4 

D. 8 

Correct Answer: C 

 

QUESTION 3

You currently have a FAS8200 with ONTAP 9.5. You want to expand the front end FC I/O capabilities. However, you
are unsure which target adapters are supported. What would you use to confirm which adapters are supported with your
current configuration? 

A. Hardware Universe (HWU) 

B. Upgrade Advisor 
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C. OneCollect 

D. Interoperability Matrix Tool (IMT) 

Correct Answer: A 

 

QUESTION 4

Which row of items should you look up in the IMT (Interoperability Matrix Tool) when designing a NetApp Storage
Solution for a customer? 

A. Host OS and patches, FC WWPN, Volume Manager, File System version 

B. Host OS, iSCSI IQN, Volume Manager, Clustering 

C. Host OS and patches, HBA driver, Volume Manager, File System, Clustering 

D. Host OS, HBA driver, Host Memory and CPU Speed, File System, Clustering 

Correct Answer: C 

 

QUESTION 5

Which two storage efficiencies have been enabled on the NVMe namespace that is shown in the exhibit? (Choose two.) 

A. deduplication 

B. compaction 

C. compression 

D. thin provisioning 

Correct Answer: B 
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